Hinge Post
Locking Post
Locking Wing

Green Correx Box
with Accessories

SINGLE LEAF Gates
With 100 x 100 x 3 Gate Posts
1 No. Gate Kit: A Consisting of the following
Quantity Item Description Part Code

Assembly Instructio

Bag Of Lock ngs ALFGO1

AHEBO!
M24 Bolts 80mm Long
( Including 2 No Hex Nuts ) AHFS75

Galvanised Wash AHFS76

Nylon Washers AYFS76

60 x 60 Flat Black Plastic Caps ATCO03
Ground Socket For Drop Bolts AHGSO01

ALL ABOVE ARE SUPPLIED IN A GREEN CORREX BOX

M24 Adjustable Gate Eyes - 150mm Long
(including 4 No Hex Nuts )

Gate Post Caps To Suit Post Size
( Supplied Loose )
100 x 100 Flat Black Plastic Caps

DOUBLE LEAF GATE
With 100 x 100 x 3 or 140 x 140 x 4 Gate Posts
1 No. Gate Kit: B Consisting of the following
Quantity Item Description Part Code

Assembly Instructions

Bag Of Lock Fittings ALFGO1

M24 Adjustable Gate Eyes - 150mm Long

(including 8 No Hex Nuts AHEBO1

Double Leaf Swing Gates

SINGLE LEAF Gate
With 100 x 100 x 3 Gate Posts
1 No. Gate Kit: D Consisting of the following
ntity Item Description Part Code

Assembly Instructions

ASLATASS

M24 Adjustable Gate Eyes - 150mm Lo
(including 4 No Hex Nuts )

(Including 2 No Hex Nuts
AHGSOL
ALL ABOVE ARE SUPPLIED IN A GREEN CORREX BOX
Gate Post Caps To Suit Post Size
( Supplied Loose )
100 x 100 Flat Black Plastic Caps

===z (2 |22==E
FAXIIIT |T |enlvonln
23AT B (55555
®3%14 |8 33533
S EEREREE A

(27 IR}

DOUBLE LEAF GATE
With 100 x 100 x 3 or 140 x 140 x 4 Gate Posts
1 No. Gate Kit: E Consisting of the following
Quantity Item Description Part Code

Assembly Instructions

50mm x 10mm Slide Bar x 360mm Long
12mm dia.Handle Bar x 105mm Long

25mm dia. Knobs ( Threaded )

60mm dia. x 10mm Thick Black Nylon Spacer

ASLATASS
ASLATASS
ASLATASS
ASLATASS

)
( Including 4 No Hex Nuts )
Nylon Washers

ALL ABOVE ARE SUPPLIED IN A GREEN CORREX B!

Gate Post Caps To Suit Post Size
( Supplied Loose )
100 x 100 or 140 x 140 Flat Black Plastic Caps

LARGE DOUBLE LEAF GATE
With 180 x 180 x 6 Gate Posts

AHFS75
AHFS76
AYFS76

AHGSO01
OX

1 No. Gate Kit: C Consisting of the following

Quantity Item Description

Assembly Instructions

Bag Of Lock Fittings

M24 Adjustable Gate Eyes - 200mm Long
(including 12 No Hex Nuts )

M24 Bolts 80mm Long

( Including 2 No Hex Nuts )

M24 Bolts 150mm Long

( Including 2 No Hex Nuts )

Galvanised Wash

Nylon Washers

60 x 60 Flat Black Plastic Caps
Ground Sockets For Drop Bolts

Part Code

ALFGO1

AHEB02

AHFS75

AHFS77
AHFS76
AYFS76

AHGSO01

ALL ABOVE ARE SUPPLIED IN A GREEN CORREX BOX

) | @ BEKAERT

76mm x 28mm Black Plastic Insert ASLATINS

M24 Adjustable Gate Eyes - 150mm Long
(including 8 No Hex Nuts ) AHEBO1

( Including 4 No Hex Nuts ) AHFS75
AVFSTS
AHGS01

ALL ABOVE ARE SUPPLIED IN A GREEN CORREX BOX

Gate Post Caps To Suit Post Size
( Supplied Loose )
100 x 100 or 140 x 140 Flat Black Plastic Caps

LARGE DOUBLE LEAF GATE
With 180 x 180 x 6 Gate Posts
1 No. Gate Kit: F Consisting of the following
Item Description Part Code

ASLATASS
ASLATINS

M24 Adjustable Gate Eyes - 200mm Long

(including 12 No Hex Nuts ) AHEBO02

M24 Bolts 80mm Long

( Including 2 No Hex Nuts ) AHFS75

M24 Bolts 150mm Long

( Including 2 No Hex Nuts ) AHFS77
AHESTS

Nylon Washers AYFS76

60 x 60 Flat Black Plastic Caps
Ground Sockets For Drop Bolts AHGSO01

ALL ABOVE ARE SUPPLIED IN A GREEN CORREX BOX

Bekaert Fencing Limited

PO Box 119

Shepcote Lane, Sheffield S9 1TY

Tel: 0870 1203252 Fax: 0870 1203242

www.bekaert-fencing,com

Fencing

sales.sheffield@bekaert.com
www.bekaert-fencing.com

— R T
H'llll‘ll |||l.|'|.|

o LRAT
1 ‘_ yangd) |

PR
]

Bk
= 5

]

1 H

@ BEKAERT

Fencing

Assembly Detalls



Robusta Single Leaf Gates - Tube Infill Mortise Lock - Reversing the Catch in the Lock Body

o et R
| 4000 |,__, || 0o r “\
I : — Invwvard Irvaard -
| | r l e 1 o Opaning ¥ | Depress Catch A around 5mm into lock body. i’
| E D e =
E ;i R , o o not use excessive force.
| < I || | Fm Pm E‘Iirl—r - mm
TR el eeas L
it ? | E% Free Standing me Face Froe Standing
| 13 - £ : Harging Post Slamming Post
B (L] | PLAN VIEW OF STANDARD GATE
I+ LEFT HUNG - 180° INWARD OPENING -
| | 75 s - Supplied Complete With | o) .
. ‘ Mortice Lock & ! Whilst Catch A is still being depressed, push in
. T A Free Standing Gate Posts lever B until resistance is felt (about 10mm).
FRONT E1EVATION e
_ o ____:_::___.;__._...__..___._-._-..-l:____:.:._:_:_:-__ e Do not use excessive force.
Dim:A | | posts | DM:C ||| SPECIFICATION :
| Nominal f : | QA Length || || @ ste 100 100 x 3mm RS ;
| Helght | £ | 000 | 1200 | qu i For Al Heights ,
| 1.0m pL:; ﬁ:m' ‘ :.:E :ﬁ% 1500mm OutorFramo ;B0 60.x 2w RHS !|
| J’—r ikt 4
v [ e e e | g . |
|| Fouln } _.“.5* Sdhgs | 355 ks Tube Infll 25 25 x 1. Smm RHS :
. 15"-. i FL:i | E%EE__%%E__ Eﬁ% 2100mm Pitched at 138mm ors. I
Loal | 317hgs | 313kgs | 38kgs | oo ||| Minges  :25mem dia. - Rear Hung | Let go of Catch A.
i 18m Posts | 48.08kgs | 48DBkgs | 480Bkgs | 2o00mm 180F Inward Opening g
| agm | Leal | 338kgs | a0BRkgs | 46T0kgs | oopn Fully Adpmvisbls Let go of Lever B.
' A, 1 5188 . '
ey e e e T 3100m bt B e o v | Turn Catch A though 180° to face the other direction.
Posts | S884kgs | SaB4kgs | SBSbkgs J
| R L | R :__:._ — Lock : Martics Lock - Eura Cylindsr | .
e p——— OPTIONAL LATCH and 3 Koys ! Do not use excessive force.
| &0 x Imm Serrated Strip  Vertical Extensions 60 x 10mm Slip-Latch {| Handies : Standard Acommaodates - I
| welded to top of leaf For Ino Rows of on inside tace of leal On Imside + On Outside
fair 1.8m high & cver Barbad Wire | and holed for Padlock | | Om Imsicle Only & Kay
1 = = ] [ M Hﬂh’ldh‘llhﬁ' ﬂ“'!l'
| %ﬂﬁﬂm;ﬂ?“ Make sure Catch A is lined up properly in its
REVISION : A - Weights Revised - 26.02.02 for Open mr,gmlpm,:, Fﬂm slot and then keep pushing it back in until a
— o ‘click’ is heard from Lever B.
: oo | PRODUCTDESCRIPTION: | Drawn MJIH
BEKAERT FENCING SYSTEMS | robusta Swing Gates Do not use excessive force.
—_— | Detailsof Standard_ Date | 30.01.02
Tinskey Wire - Wigan _Single Leaf Gates Dramng Ng The Lock Body has now been turmed from left hand to
Woodhouse Lane Phone 08701203252 | WithTubeInfil right hand, or visa versa.
Wigan  WNBTNS Fax 0e701209M |~ 'RB-SLG-TO1 | Ko

8 BEKAERT
= 1 © 1



Robusta Double Leaf Gates - Tube Infill

Robusta Swing Gates - Mortise Lock Handle Assembly

: "?E | il :
) B i E |
.-"'-Ji ﬁE I a1 [ E
(] | . (=33
[ | E l:i I+_ | 1 L!..._J T ----_ja
e, l ! I — " Bottom Hinges are Double
@ = 7 medmum FRONT ELEVATION for Gates 7.0m wide & Over
5 Inward v Ioward !
Opening Opening
o \/ N
Pesst
. Raquired IHM | H“T:T Required | — e l
[ L= 5 8 N S R 3443 %A n o Beh BoR R S8 &5 8 5 .
.- i Clmewuber
1% @ ecus s - :mﬂ?nﬂﬁing.
= : PLAN VIEW - Part : 14 for “Open Mesh Steel
. @ Supplied complete with ; Noriics Lock & Free Standing Gato Posts || Panl Ferces” |
- omA| af | omesion:s-Oomesemmproniom | 20| sPECFICATON: ri
L @ g ey 8 = —— e — —{ QWA Langth || | oot Posts ;900 100 x 3ren RHS I
e, Haight 2060 | 4060 | sos0 | soso | mesn | soes | of Posts * 140 140 3 feram RHES
: Leaves | 45,61 kgs | 6012 k| TE.67 kg | 5241 ks | : 180 % 180 x Smm RHS |
i 1.0m | Posn |Mmskge 3i96kgs| Miehps | stizigs | WA | N/A | N/A | 1500mm
o Section |166m 18003 | 100x1 (w2 108w 00x2] 240 taint Duter Frame 60 260 x 2mm RHS Verticals |
Lomves | 5025 hge | BAST g 4161 hg [ 10205 e Pelimited -Mx@ximBENeE ||
| 1.2m | Posts [ssings | 3sange| Sikgs[s3izig | NA | NJA | N/A | 1800mm | _wTaﬁuzﬁﬁﬁh |
ﬁ - [ Section | 10w100x3. 10001 0031081003 140t 40wt (| Dr:-ﬂ.[:n'-mﬁﬂ- (1
P f,,/ ' Loss | 67,5 bgs | T6.25 hga| 95,99 g | 19850 b 1419 gt : |
: - 1.5m | Post |4nociogs | 2092 kgs| 4093 kg | THEE g um_:l NA | WA | 2700mmi || || Tuss Infill § 25 0 25 1.5mm RHS [
- oy Sactien | 100u100sd. 10010063 10003 | 10T S 0o T Decd 1 pitched at 135mm ors. [
T - Losvan [6230 loge | B6.50 kige| 11019 kgs{ 12071 kys|162.29 kgs| 200,59 kgs [ 224,05 hgs '
g 1.8m | Posts |4mikge | 8008 kgn| 8708 hge | 4798 kg | 9700 e | 16896 bpn | 6506 ngs| 2500mm || || Hoes + 2mm dia. - Rear Hung
T “ Section | 10810083 100510053 14014004 ST 40k 140 ADnd T90ci0as | EBEatBts Lol
Loaves | B5L55 lege | 597 kg 1750 logs B40.55 s 172167 s Z20.95 uga | 23811 kg | ulty Adjustasi,
| 20m | Posts | 6168 kgs | 5165 kgs 9.7 ke | 8078 kgn | 9078 hge 17790 ngs 17790 kgs| 2T00MM || | Ground Bots  : 20mem dis. - On Inuicds Facs
| Section [100e100e3 100610053 14034054 40l aint 930G | 1A 30E with Aeti-Lift beachet.
| Lowvas | BOLET logs | 987.27 ke 36,51 boga! 163,71 s 21153 g, 284,09 lngs | 770 kg Loclable vith Padlock
24m | Posis | FABdbgs | BB ks 10730 kgs{ 10730 ge 107, 182 kg [ 203,63 kpe| 3100mimi || |
Saction 1m1m:1mzmm$}umﬂ@$@___”_ || Losk ‘3’:‘““';*'5"”5‘1’““ I
—— | i
50 x 10 Slig-Lateh | mmﬂ:hﬁi:-
v Babed) | e for ook || _ Mo Herdios & Ky Only
PRODUCT DESCRIPTION :
PRODUCT DESCRIFTION:  Drawn  MJH @ BEKAERT FENCING SYSTENS | roposs Sure Drawrr MJH
. Deml!sma@dm _ = Tinsley Wire - Wigan Double Leaf Gates Dramng No
i BN w0 onmy |-k e Drawing No : Woodhouse Lane  Phone 08701203252 | With Tube Infill_ T
use Lane Phone REV Wigan WMNETNS Fax 0670 120 3242 | RB-
Wigan WNE7NS  Fax 08701203242 RBG-AS-L1 - |




Robusta Swing Gates - Hinge Assembly Standard Robusta Swing Gates - Slip-Latch & Handle Assembly

| /N : & 23
Black Plastic Top Caps '\5_‘*’ EE%% gé
6oz S = | %
Eig HE
il 12
- o .
¢ - 3
P Eﬁ%% :
%x o 353ge g
j‘; 5 M::K%;:S:: r_;-f’ff gﬁ
” [ | £2
J 27y, g
< i
{ {}x* k [ %%‘f’/ﬁf ﬁ =
Nylon Washers - {?q e-"_’“ i )
mEs s 3,508
© \?ﬁ iR
(¢ e = o
] __H___J_,.-f' E
1 " il
| 2
=2
\ &
PRODUCT DESCRIPTION:  Drawn MJH ) ) E
@ BEKAERT FENCING SYSTEMS  Robusta Swing Gates | _\ =
Detils of Standard Date  29.07.02 —A\| o
L“niﬁ’h'ﬁiﬂf“” Phone 0870 120 3252 T Drawing No m N— ’@
\Wigan WNB7TNS  Fax 08701203242 RBG-AS-H1

- 3



